M1 2ARRTaeit 7| PCBZ M12*1 WNEEE

RRIRZERZES M12K71 |

m EHIREY  IRBIREIRRE |

m fEETSEEL  ALEY,

m 5% 2,3,4,56,812,17 pin,
= JEEST : PCBIRA ,

m R

m JAIE : CERoOHS,

|
<

D

m fufE : [EC 61076-2-101

HSEL
TR EER/ S S EIR/PA+GF
R - PA+GF/TPU
B IREHE/ AR
RETARL BRI S/ EiE
PRELAAR - TPU/PVC
HRIZRR, - >100 MQ
FERAPEHT - <5mQ
FEIRORES >500 %
ERRE -25°C ~ +80°C
PP IP65/IP67
PATHRAE IEC 61076-2-101

1/5 RYITHIERFESBIRAE


http://www.caznlink.com/index.php?s=/Show/index/cid/104/id/118.html

tERX

5A

5A
!
=
-
’@L@
__¢
17A
]
B
_ﬂ;_{%__ﬁ}
B
_i
17A
S

RYITHIERFESBIRAE

I

nﬂaﬂ% |- : ﬁ&%Nw
Y 2 _
\}. 2 TP
¥ E "
AT = g WNIJm
N
3 3
—- — I o \E
L XL < < &W&wﬂ Pl < Do -9

M12*1

3A
Dl
ii_jtaﬁl}
6A

3

aY
3A
g

. TZ%{
/\1!" ;'9
_:L,
5

6A

30

ral "

|,_®\__6
-
)

55

PCBT

U
20.5

2A
5B
d5a
N
2A
r~‘-’5\;
p =,
7
[
5B
AT ]
5

| (— ..ﬂ_uﬁ . S
L XTI A B> 5] =4

Paxl)

“ccCle

S

RIE

M12

=

81l

oMz
S
§m

-

PCBMIAFE
Pk 5 |
FLE
PCBIEMU 7 E

PCB;

2/5



http://www.caznlink.com/index.php?s=/Show/index/cid/104/id/118.html

M12tREZ = B PCBT

BREEN

BLEE

HLEE

4T BRE

B [l [Podl | =t

HDEE

nicgiv

D (O [~ | U (B [l | P =

SEEE Y ESIRE, TEHNTERRBEERBIVE,

3/5

10 VT
11 0G
12 LTGN

0 |~ o fun [ oo b =

O (o [t | [ | [ (B | =

10 VT

11 0G

12 LTGN
13 LTBU
14 BKWH
15 BNWH
16 RDWH
17 BUWH

RYITHIERFESBIRAE


http://www.caznlink.com/index.php?s=/Show/index/cid/104/id/118.html

M1 2ARRTaeit 7| PCBZ M12*1 mmm

BERIR
2 ’ 4A 250V 250V 22 0.34
i * __.-/#l 5
3 @ ... 44 250V 250V 22 0.34

4A 250V 250V 22 0.34

R 3
E RPN 47 AR ' S |
5 ‘.t ‘o ® oV B 60V 60V 22 0.34 |[%° %0 | o0
AN g / 28:CH A AN . U

B
L ]
. ®

[
I/

[ ]
L N

L]
Lo I o ]
L ]

@

o
(]

O
o o

=

o o

L
o
o

. | i
6 -- R 30V 30V 24 | 0.25 © o
8 ' 2A 30V 30V 24 | 025 | {&E\

-]

E]
L]

12 1.5A 30V 30V 26 014 | (203,
17 1.5A 30V 30V 26 014
=63
FrERBR 12F ey BE 3DTE; 2DTE;

M124REIZ2EFL BUEREBMR(PCB) | M12x1 | 2A | M12-S2A-GPB M12
MI2AREIZREEF BUBERE-IZHRZL(PCB) | M12x1 | 3A | M12-S3A-GPB M12
MI12iRBTZEEF BB ARIRC(PCB) | M12x1 | 3C | M12-S3C-GPB M12
MIHREIZREEF BUBRE-IEMRTN(PCB) | M12x1 | 4A | M12-S4A-GPB M12
MI124REIZEEF BUBERE-IEHRTL(PCB) | M12x1 | 4D | M12-S4D-GPB M12
MI12IRBTZAEFL BB ARIR=(PCB) | M12x1 | 4C | M12-S4C-GPB M12
MI2ARETZREEF BUERE-J2MRTL(PCB) | M12x1 | 5A | M12-S5A-GPB M12
MI12AREIZEEF BUHRE-IZHRZL(PCB) | M12x1 | 5B | M12-S5B-GPB M12
MI2HRBIL R FLERRE-EHRZU(PCB) | M12x1 | 5C M12-S5C-GPB M12
MI2AREIZREEF BUBERE-IZMRTL(PCB) | M12x1 | 6A | M12-S6A-GPB M12
MI12iRBTZEEF BB ARIRC(PCB) | M12x1 | 6C | M12-S6C-GPB M12
MI12HREIZEEF BUHRE-IEMRZN(PCB) | M12x1 | 8A | M12-S8A-GPB M12
MI2AREIZREEF BUBERE-JEMRZL(PCB) | M12x1 | 12A | M12-S12A-GPB M12
MI12IRBTLRAEFL AR ARIRZ(PCB) | M12x1 | 17A | M12-S17A-GPB M12

4/5 RYITHIERFESBIRAE


http://www.caznlink.com/index.php?s=/Show/index/cid/104/id/118.html

M121RBiZ s f BiHEE PCBT M12*1 mmm

TR E
PR CAZNIE RS- Rekrr= SR
EMGAIE =5
RoHSIRE: a5
IERERERERURERS-EMCIET a5

5/5 AYIHIERFESBIRATE


http://www.caznlink.com/uploads/CAZN-M%20SERIE%20CONNECTOR-M2023-2.pdf
http://www.caznlink.com/uploads/file1/20230515/6461ef10e7bf2.pdf
http://www.caznlink.com/uploads/file1/20230517/6464967ca3b95.pdf
http://www.caznlink.com/uploads/file1/20230515/6461ef10e7bf2.pdf
http://www.caznlink.com/index.php?s=/Show/index/cid/104/id/118.html

